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Instructions regarding filling of OMR Sheet are | =
PRI NIQE mentioned on the OMR Sheet only.
Adym P I a The duration of the exam is 12 Hours. @ Uden 3l 11, gue E1
The Question Booklet consists of 100 Questions, | & gauﬁmgﬁﬂmﬁ 100 U 2 T Ul U2 4 3ihl Bl
each with 4 Marks. The maximum Marks are 2 | iftra 3id 400 E
400.
@ Subject-wise division of 100 Questions are as| =  @d 100 Ui ®I faware faaeur 38 UdR 2 : Hifds

follows: Physics-30, Chemistry-30, Maths-30
& MAT-10.

fasi-30, e@RM fasme-30, aifUrd-30 e wHfa®
TloTd wleiul-10 e |

&  Candidates will be awarded 4 Marks for the
indicated correct response to each question.

@ Yl U Ol Jsl 3ae &I TR 4 31 UcH fapel STiot |

< One mark will be deducted for the incorrect| J1eTd 3¢ <ol e uk 1o 1 3§ ier ST |

response to each question.

&  Space for rough work is also provided in the | & uﬁmgﬁaaﬂatﬂmﬂiﬁmlﬂmamamﬁ :

Question Booklet. 3

TF 9%] F IA-999 WF X378 & TAFRR Th @l
21 3q Y B-

01. The speed-time graph of an object is a line parallel to | 01.
the X-axis. This means

A

\%

f

. .
Lagl Lagl

—> T —> T

(1) =% §HM T 9 = @ e
(2) o FHEH T ¥ = @ e
(3) =% feem 2|
(4) =g @ wfa @ = @B
02. TF Y& Tae e K 9 &t fea S 21 9tk 9w
SATUhad TUE Tk ST O THRT SATRTH = 9 s

(1) The object is moving with uniform speed.
(2) The object is moving with non-uniform speed.

(4) The object is moving with constant acceleration.
02. A Particle is Projected with kinetic energy K. If it goes

I

I

I

I

I

I

I

I

I

(3) the object is stationary. I
I

I

upto its maximum range, the kinetic energy at its |
I

I

I

I

I

maximum height will be ExIRUl
(1)0.25K (2)05K (1)0.25K (2)05K
(3)0.75 K (4)1.0K (3)0.75 K (4)1.0K
Space for Rough Work
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03. A cricket player can throw a ball upto a maximum I 03. fhshe &1 i foenet fFd 75 & geat W sifyshay

04.

0s.

06.

07.

horizontal distance of 100 meter on the ground. The |
maximum height to which the player can throw the same |
ball above the ground is |
(1) 100 meter (2) 50 meter :
(3) 25 meter (4) 15 meter |
When an object is projected at two different angles of I
projection, its horizontal range are equal. If h; and h,

are its corresponding maximum heights, then its horizontal

range R, h, and h, will have the correct relation.

(1) R=hh, @ R=\Jhh,
G) R=2h h, @) R=4Jn I,

A lift of mass 200 kg is moving upwards with an
acceleration of 3 m/s?. If g = 10 m/s?, then the tension in
the string will be
(1) 2600 newton
(3) 1300 newton

(2) 2000 newton
(4) 600 newton
A light string passes over a frictionless pulley. Amass m

1s tied at one end and 3m at the other end, the acceleration

(1) g4 (2) g3

(3) 92 4 g

A physical quantity P is related to four observable
3b2

(Vea)

The percentage errors in the measurement of a, b, ¢

and d are 1%, 3%, 4%, and 2% respectively. What is
the percentage error in the quantity P ?

I
I
I
I
I
I
| 0
I
I
I
I
I
I
I
I
of the system will be :
I
I
| 0
I
quantities a, b, ¢ and d in such a way that P = I
I

I

I

I

I

I

I

06.

100 R &fa T 7F FF THA 7| 7 Foere s g
%1 gedit ¥ S T tfuehad o1 o ® ehal € 9
?

(1) 100 =X (2) 50 Hx

(3) 25 HixX 4) 15 Hix

S U o 3 Tt wees wivn woweiyg s oS @
ST AT T A €1 A h,qe h, SR
HETH A ¢, A ST &fw T R, h, 7 h, F W
=Y BT

(1) R=hh, ) R=\[hh,
(3) R=2 hth (4)R:4\Ih1h2

200 T seME =t fage 3 @/’ & @ 9 W H
3R T = W B AR g = 10 WAL F al T = S’
&1 T B

(1) 2600 =g (2) 2000 =

(3) 1300 =g (4) 600 =

T B! SN S ed Bl & Sw ¥ Terdt #1 Suw
T TR W m a1 TR R W 3m =+ gormm 59 2, Frerra
T @O B

(1) g4 () ¢/3

(3) o2 g

FIT ifgw TR P, =R dgu-arg TRE a,b, cden d 9
YRR YT § - P = ab’

- (Ved)

a,b, cTU = Ao | wiaer qfear wEe: 1%, 3%, 4%,
g 2% 21 R P ¥ wiaera Fqfe fhad € 2

(1) 13% 2)2% (1) 13% 2)2%
3) 15% 4) 10% 3) 15% 4) 10%
|
Space for Rough Work
PCP sikar Class : XI/P-8 I IT-JEE | NEET | OLYMPIADS 2
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08.

09.

10.

11.

12.

13.
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Two perpendicular forces of 8 N and 6 N are acting on los. 5.0 kg $AH & et five W SN T 6N & I Twaq

a body of mass 5.0 kg. Find the magnitude of resultant |
force on the body. |
(1) 20N (2) 25N |
(3) 10N (4) 5N |
A rocket of lift-off mass 20000 kg is blasted upwards |
with an initial aceleration of 3 ms. Calculate the initial |
thrust (force) of the explosion. |
(1) 3x10°N (2) 5x10°N :
(3) 100N (4) 500N |
A body is released from the top of a tower of height h. It |
takes 't' sec to reach the ground. Where will be the |
body after time t/2 sec I
(1) At h/2 from the ground I
(2) At h/4 from the ground I
(3) Depends upon mass and volume of the body I
(4) At 3h/4 from the ground |
Ifa freely falling body travels in the last second a distance |
equal to the distance travelled by it in the first three |
second, the time of the travel is |
(1) 6 sec (2) 5 sec I
(3) 4 sec (4) 3 sec |
A body starts to fall freely under gravity. The distance |
covered by it in first, second and third second are in :

I

I

I

ratio
(1)1:3:5 2)1:23
3) 149 @156

A river is flowing from east to west at a speed of 5 |
m/min. A man on south bank of river, capable of I
swimming 10 m/min in still water, wants to swim
across the river in shortest time. He should swim I
(1) Due north |
(2) Due north-cast |
(3) Due north-east with double the speed of river |
(4) None of these I
I

09.

10.

11.

12.

13.

o Sfud g1 fyve o afomdt st =1 oo s 1)

(1) 20N (2) 25N

(3) 10N (4) 5N

20000 kg Ieamad Wefa & fohell ¥dhe ¥ sms?2 =&
ARFITH 0T & WY S I SR TR THa s 2l
TaeFle 1 AR YU (F) M@ FHI9T |

(1) 3x10°N (2) 5x10*N

(3) 100N (4) 500N

hS9E % T IR & W ¥ T fie sier v 21 58
S A TEEE @ At R ol B ¢/2 UeUe T
=% fig wel 7 2

(1) 59 ¥ h/2 W

(2) ST ¥ /4 ™

(3) fis & Foaum S emgad W e e 2l

(4) S ¥ 3h/4 ™

Ifg Tdd w9 ¥ iR amen fig offam g+e o wed dF
Y ¥ 70 F T U F IR AR K@, @ ae g
o wHE TR 2

(1) 6 sec (2) 5 sec

(3) 4 sec (4) 3 sec

Toed & 3l wh fie g w9 o R w2
TR, T R T e ¥ 30 51 99 I R g
7E?

(1)1:3:5 2)1:23

3) 149 @156

Sm/min 1 = § Tk Tal g9 § fv=H H AR T8 CY
B T W sfeolt R W ww st S fer wo o
10m/min ¥ 3 ¥ T ¢, 9 W w1 GHF § T A IR
FHE TR 2 SY O =ie-

(1) ST =T 3R

(2) ST = 3R

(3) &I I =@ W IR SW-TA I IR

(4) 8 o = =

Space for Rough Work
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14.

15.

16.

17.

18.

19..

The angular speed of a fly wheel making 120 rev /minute | 14.

is
(1) 2nrad/s

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||
| T TAUTeTsh =k 1 hivid = S R 120 Foi/fAe
YYE @R, T -
(2) 4n rad/s (1) 2nrad/s (2) 4a’ rad/s
(4) 4nrad/s (3) mrad/s (4) 4nrad/s

(3) mrad/s
A 150 m long train is moving to north at a speed of
10 m/s. A parrot flying towards south with a speed of
Sm/s crosses the train. The time taken by the parrot to
cross the train would be :
(1)30s

(3)8s

)15
4)10s

the magnitude of the resultant force is F/3. The angle
between the two forces is

(1) Cost (-17/18) (2) Cos™ (-1/3)

(3) Cos1(2/3) (4) Cos™ (8/9)

A man of mass 80 kg is standing in an elevator which is
moving with an acceleration of 6 m/s? in upward

direction. The apparent weight of the man will be

(g =10 m/s?)
(1) 1480 N (2) 1280N
(3) 1380 N (4) None of these

The displacement x of'a particle moving in one dimension | 18.

under the action of a constant force is related to the |

time t by the equation ¢ = \/; + 3, where x 1s in meters

and t is in seconds. The work done by the force in the

(HoJ )67

I
I
first 6 seconds is. I
I
3)01] @3] |

A block of mass 50 kg slides over a horizontal distance | 19-

of 1 m. If the coefficient of friction between their |
surfaces is 0.2, then work done against friction is I

15.

I

I

I

I

I

I

I

I

I

I

Two forces with equal magnitudes F act on a body and I 16.

I

I

I

I
17,
I
I
I
I
I
I

TF 150 m Tt WS 10 m/s T A F IW FHl IR
T 21 5 m/s T W SFT0T Y 3R SSAl g3 TH el
IME 1 IR @ 21 dd g el B UR Fw
T AT T9F BN

(1)30s (2)15s

(3)8s (4)10s

T R Al & 9ol F U a%] WOHEd € 3R
RO st 1 9fAoT F/3 €1 R Sl o S 1 i e

(1) Cos™ (-17/18) (2) Cos™ (-1/3)

(3) Cos™(2/3) (4) Cos™ (8/9)

80 kg S5AHI 1 T MSH T forwe ® @ 3 o T
6 m/s? = XU % WY W HT Gwn o =1 @ 2| e
T STHE TR T

(g=10 m/s?)
(1) 1480 N (2) 1280 N
(3) 1380 N 4T 9 FE T

T FO 1 faerd x T T s = R o+ s
& fa ® 1 0 T £ = Jx + 3 THEROT 5] 9 o
ey €, Sel x et H € oK ¢ Uhe § 31 UEe 6 Tehe

o el g R T wE R
(HoJ )67
(3)07 437

50 kg SoTHM 1 Uk T[T 1 m T &fae T W fhgera
21 A% ST Wal & = T = Yok 0.2 ¥, S
% foeg o T =4

(1)987 27217 I (1)9817 2721
(3)5617 (4)3417 | (3)5617 (4)347
|
Space for Rough Work
PCP sikar Class : XI/P-8 I IT-JEE | NEET | OLYMPIADS 4
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20.. A body moves from rest with a constant acceleration. l 20. UF g% TH Toa @ & 9 fagmmaen 9 1fa #id

21.

22.

23.

24.

Which one of the following graphs represents the variation
of its kinetic energy K with the distance travelled x ?

K K
(D ‘ i 2 | i
e} X o X
K K
3) ‘ i “4) L
o X 0 X
If v represents pressure and x represents velocity
2
gradient, then the dimension of d—z are -
X
(1) MTLT? (2) M?L?T7
(3) ML'T 4) [M?L2 T
A Stationary particle explodes into two particles of
masses m, and m, Which move in opposite direction

with velocities V1 and Vz. The ratio of their kinetic

energies 1s -

(1) m,/m, (2)m, /m,
m, v,
(3 1 @) oy

If a unit vector represented by 0.5 —0. 8} +ck then the

value of ¢ 1s -

(1) J0.01 (2 Jo.11
3 1 4) J0.39

If net force on a system is zero then -

(1) its momentum is conserved

(2) its kinetic energy may increase

(3) the acceleration of its constituent particle may be
non - zero

(4) all of these

21.

22.

23.

24.

2| frefafed o ¥ %9 @ W 7@ # R b xF g
T faw S k F aRedd i Fefyd w22

(D ‘ i 2 | i
3) ‘ i “4) L

ISy <& 1 qA x A FAUM I GRS FE €, q9
(1) [M'LT?| (2) IM*L2T7
(3) [ML'T] (4) [IM* L2 T
T TR 0 m,, 9 m, S % T A 6 faeRifed
2, SV AV, A @ faafia freme § wfq w2

2

ay
dx?

THT TS Sest W ST -

(1) m,/m, (2)m, /m,
mv,

3 1 @ v

I Thik WIS F1 0.51-0.8]+ck ¥ TR R wQ
WeH a1 T -

(1) Jo.ol (2 Jo.11
3 1 4) J0.39

7 Tk T W FA 99 A T, @ -
(1) TEH Ham HHa & 2l

(2) THS! TS Sl 5 Fehal B

(3) THF TFAFT FHUN HT @ SA B STl

(4) ST gt

Space for Rough Work

PCP, Sikar
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25.

26.

27.

28.

29.

| www. princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
Which of the following is self adjusting force ? | 25, e 6 @ =9 w4 gufm 5 @ 2
(1) sliding friction (2) dynamic friction I (1) TrEe =y (2) it o7
(3) static friction (4) limiting friction | (3) wifaw = (4) Hrgra =eo
The speed of a projectile at its maximum height is half | 26. & 9&= F AR FAE W A TUHRT WRATE
of its initial speed. The angle of projection is - : =1e1 9 enuft 2, 99 WEuu oy ¥ -
(1) 60° (2) 15° (1) 60° (2) 15°
(3) 30° (4) 45° | (3) 30° (4) 45°
Two projectiles of same mass and with same velocity : 27. HH FEM A6 S YA AE A9 ¥ Qe & @y 60°
are thrown at an angle 60° and 30° with the horizontal, | FN30° & H W HH A %, T9 390 1 THE @I -
then which will remain same - |
(1) time of flight I (1) 32T &=
(2) range of projectile | (2) & HI WH
(3) maximum height acquied I (3) 9w SAfHRTH EEIH
(4) all of these (4) ST gt
If pulleys shown in the diagram are smooth and massless I 28. afx fox & gwiiet Rt st qen sommfea @ qen
and a, and a, are acceleration of blocks of mass 4 kg | a, Siﬁ'{azav'q'ﬂ% kg A1 8 kg SEAUM & STkl o ORI 2,
and 8 kg respectively, then - | q9 -
(1) a, iaz I (1) a iaz
(2) a,=2a, | (2) a,=2a,
(3) 2a =a, | (3) 2a,=a,
(4) a,=4a, | (4) a,=4a,
A rocket of mass 5700 kg ejects mass at a constant rate | 29. 5700 kg $oA9M A1CT Uehe ¥ 15 kg/s Tt F90 R A B
of 15 kg/s with constant speed of 12 km/s. The : aTed Tererdt 8 Toeeh! fad =t 12 kmy/s 21 faehie &
acceleration of the rocket 1 minute after the blast is - | | e o1 e 1 oo ® -
(1) 34.9m/s? (2) 27.5 m/s? | (1) 34.9m/s? (2) 27.5 m/s?
(3) 3.50m/s? (4) 13.5 m/s? | (3) 3.50m/s? (4) 13.5 m/s?
A mass m moving horizontally (along the x-axis) with | 30. T A m Sfas €9 9 (x-378 & STIeR) v o 9 A

30.

velocity v collides and sticks to a mass of 3m moving
vertically upward (along the y-axis) with velocity 2v.
The final velocity of the combination is -

| 2;+1A.
—V —V
()3 3V

@ 2V
3 3 !

|

|

Q) ivarlv] I

2 4 |

3) lV,i\-i-iV,j |
42 I

F gH, 2v A °§ e FW R SR (y-IE
rfEen) T X g4 3m SAEE W R UL Uk S 2|
A o Sifem 3 3

| 2V€+1A' ) 3;4_16
— —V —V —V
(1) 3¥i+3] @) i+ ]

3) lVeriVA' 4 lV;Jr%VA'
4 2 ! “) 3 3 !

Space for Rough Work

PCP, Sikar
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E@EMMRUE

T
lamuis : | 31. lamu? :
(1) 1.66x107kg (2) 1.66x107" kg I (1) 1.66x107kg (2) 1.66x107" kg
I .
— — 4) (2) T4 (3
) 34 (4) Both (2) and (3) | ) 34 ) ) (3) <A
32. Find the charge of 48 g of Mg ** ions in coulombs :- : 32. 48g, Mg? STl T A (FHTH) TG HIT9Y |
(1) 2.4x10%C (2) 6.82x10°C | (1) 2.4x10%C (2) 6.82x10°C
() 386x10°C (4) 1.93x10°C | () 386x10°C (4) 1.93x10°C
33. Which has lowest ionisation enthalpy ? | 33. frEet sra oot Freaw B @ o
(1) Chlorine (2) Oxygen I (1) FfeA (2) siforas
(3) Nitrogen (4) Neon | (3) eSS 4) =
34. Elements with electronic configuration ns! are | 34. ns'soRIME fo=9 A9 9@ wEa B
known as :- |
(1) inert gases (2) alkali metals | (1) tfma 9 (2) R oTgd
(3) transuranic elements  (4) Halogens I (3) W T (4) TS
35. Which of the following is a hypovalent compound ? | 5. fe o @ seu gAh Aifew S -
(1) NF, (2) NH, | (1) NF, (2) NH,
(3) BF, (4) IF, | (3) BF, (4) IF,
36. Which is not planar ? | 36. =1 & @ =i =Aifter goaefa & 2 2
(1) CH,=C=CH, (2) CH,=CH, : (1) CH,=C=CH, (2) CH,=CH,
(3) CH,=CH-CH=CH, (4) CH,=CH-C=CH : (3) CH,=CH-CH=CH, (4) CH,=CH-C=CH
37. Tn which of the following molecules, central atom is sp* | 37. e o 9 forw o) § S T sp? g ©
hybridised :- |
(1) BeF, (2) BCl, I (1) BeF, (2) BCL,
(3) NH, (4) CIF, I (3) NH, (4) CIF,
38. The actual weight of a molecule of water ? I 8. UMl & UH T H FAF AR 2 -
(1)18 ¢ (2) 2.99x102 g | 18g (2) 2.99x102 g
(3)Both 1 & 2 (4) 1.66x102 g | (3) 1 &2 i (4) 1.66x102 g
39. Which sub - shell is not permissible :- | 39. = swshiw 7= Y @
(1) 2d (2) 4f I (1) 2d (2) 4f
(3)6p 4) 3s | (3)6p 4) 3s
I
Space for Rough Work
PCP sikar Class : XI/P-8 I IT-JEE | NEET | OLYMPIADS 7
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40.

41.

42.

43.

44.

45.

46.

PRINCE OLYMPIAD EXAMINATION
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Which of the following is not iso electronic series :-
(1) cr,p>, 4r (2) N*",Ne,Mg™
(3) B®.He,Li" (4) p.s*.C

A Jug contains 2 Litre milk. Calculate the volume of | 41.

milk in m?>.
(1) 2x10° m? 2) 1x10° m?
(3) 2x10° m? 4) 2x10° m?

4.0 gm. NaOH dissolved in 250 ml. solution. Its
molarity is :-

(Hoz2M 2)03M

3)0.1M @ 04M

A 0.66 kg. ball is moving with a speed of 100 m/sec.
The associated wave length will be -

(1) 6.6x1032m (2) 6.6x103* m

(3) 1.0x103* m (4) 1.0x1032m

Maximum number of electrons in a subshell with n =4
and1=3 -

(6 2) 14

(3) 10 (4 32

For which sets of four Quantum numbers, an electron

will have the highest energy :-

n 1 m s
1) 3 2 1 + Y
2) 4 2 -1 + Y
3) 4 1 0 -Ya
4) 5 0 0 -Ya

Identify the correct order of the size of following -
(I)Ca”? <K' <Ar<(Cl <§2
2)Ar<Ca”? <K' <C(ClI <§2
(3) Ca”? <Ar<K'<C(Cl <82
4) Ca”? <K' <Ar<S§2<Cl

| 40.

42.

43.

44.

45.

46.

1 ¥ | BIFTET AASCIdG (-1 T8 8l ©

(1) ¢, P>, Ar (2) N*°,Ne,Mg™

(3) B”,He,Li* 4) pP.8%.Cr

T W H 2Tl 3 Sufted © o 39 H m3H ST
2 -

(1) 2x10° m’® (2) 1x10° m’®

(3) 2x10° m’? (4) 2x10 m’?

4 7M™ NaOH =i 250 faefieiier faeam # =iem o sqeh!
TR g -

(1)02M (2)03M

(3)0.1M 4)04M

T 0.66 kg. F1 WS 100 m/sec. & o W T Tt & @l
TEH GG T B -

(1) 6.6x102 m (2) 6.6x10% m

(3) 1.0x10% m (4) 1.0x102 m

n=47q 1=3 9 AfuFHad oo S weT e -

(1) 6 () 14

(3) 10 4)32

= o o e gemuen TN % W2 % AU soieR Wi
o AfFaT Bl -

n 1 m s
1) 3 2 1 + Y
2) 4 2 -1 + Y
3) 4 1 0 -Ya
4) 5 0 0 -Ya

et & TR 1 WE wH ? -
(1) Ca? <K <Ar<Cl <82
(2Q) Ar<Ca?<K'<Cl < §?
(3) Ca”? <Ar<K'<(Cl <82
(4) Ca? <K'<Ar<S2<Cr

Space for Rough Work

PCP, Sikar

Class : XI/P-8 I

IIT-JEE | NEET | OLYMPIADS 8
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47. Which of the following compound shows the intramo- I 47. T H 9 T At o o S0k H- s SUieerd gl
lecular H - bonding - | ? -

(1) Water (2) o - nitrophenol | (1) S (2) o - TEAHAA

(3) Amonia (4) p - nitrophenol : (3) st (4) p - TEIERHAA
48. Bond order 1.5 is shown by - | 48. et o @ 1.5 5 %A Seiar s @

(1) 0, (2) 0 | (1) 0, (2) 0

3) 0, 4) 0> I 3) 0, 4) 0>

49. The electronic configuration of four elements are : which : 49. WX T & gt faad €, S 9w iedt
one will show variable oxidation state ? | ST STERT YR T ?

(1) [Kr]5s' (2) [Rn]5 F*6d'7s* | (1) [Kr]5s' (2) [Rn]5 F*6d'7s*
3) [ATBd" 4s%4p° (@) [Ar]3d° 4s° | @) [ArBd4s’4p’ (@) [AfdC 4s?

50. Increasing order of electron gain enthalpy is : I 50. oM TR T = EENI-SRe ) 2
(DN<O<CI<Ar 2) O<N<AI<(Cl | (DN<O<CI<Ar 2) O<N<AI<(Cl
3)AI<N <0<l 4) CI<N<O<Al | (B)AI<N<O0O<C(Cl 4) CI<N<O<Al

51. The relative penetration power of different subshells is I 51. fafq=r Susiell =t 9o &mar 1 9w 3
Ds>p>d>f 2)s<p<d<f | Ds>p>d>f 2)s<p<d<f
(3)s<d<p<f 4 d<s<p<f I (3)s<d<p<f 4 d<s<p<f

52. Which one of the followimng species has no existence - | 52, frm & 9 e vt w1 sfeqes & & -

(1) XeF, (2) XcF, : (1) XeF, (2) XcF,
(3) XeF, (4) XeF, | (3) XeF, (4) XeF,

53. Which of the following are arranged in the decreasing | 53. frefofea o @ fwa T5Ya Ul & ¥ed A | Fareed

order of dipole moment - : o T @ -
(1) CH,CL, CH,Br, CH,F | (1) CH,CL, CH,Br, CH,F
(2) CH,CL, CH,F, CH,Br | (2) CH,CL, CH,F, CH,Br
(3) CH,Br, CH,CL, CH,F | (3) CH,Br, CH,CL, CH,F
(4) CH,Br, CH,F, CH,Cl I (4) CH,Br, CH,F, CH,Cl

54. Number of oxygen atoms in 8g of ozone is : | 54. 8 UM SNA | STaEeH THAVET &l ded 2=
(1) 6.02x10% ) % i (1) 6.02x10% Q) mzzﬂ

6.02x10% 6.02x10% | 6.02x10% 6.02x10%

G —— @) = I () —— @) =
Space for IRough Work
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55. Select the incorrect relation among the following : I 55. 9 ® 9 19 ®UT T =TI Hifo0-
(1) AxAp= f—n (2) Ax.Ap = % I (1) AxAp= f—n (2) Ax.Ap = %
I
(3) AxAv> ﬁ (4) AEAt> :l—n : (3) AxAv> ﬁ (4) AEAt> :l—n
56. The correct order of decreasing second ionization energy l 56. Li, Be, Ne, C, B! fgdtash 1o el a1 =12al A 2
of Li, Be, Ne, C, B : :
(1) Ne>B>Li>C>Be (2) Li>Ne>C>B>Be | () Ne>B>Li>C>Be (2) Li>Ne>C>B>Be
(3) Ne>C>B>Be>Li 4 Li>Ne>B>C>Be | 3) Ne>C>B>Be>Li (4) Li>Ne>B>C>Be
57. The electron affinity values for the halogen's shows the | 57. 2ciem = % el & Q. SeioRlT o=4a1 =1 &4 2-
following trend : |
(1) F<CI>Br>1 2)F<Cl<Br<lI I (1) F<CI>Br>1 2)F<Cl<Br<lI
(3) F>Cl>Br>1 @ F<Cl>Br<lI | (3) F>Cl>Br>1 @ F<Cl>Br<lI
58. Number of & and ® bond present in | 58. CH,-CH=CH-C = CHY o a0 7 s &t G 2-
CH,- CH=CH-C =CH are : I
(1) 106, 27 (2) 95, 31 | (1) 106, 27 (2) 95, 31
(3) 40, 37 (4) 100, 3w | (3) 40, 37 (4) 100, 3w
59. Which of the following element is not regarded as tran- | 59. =1 fafigd & § Fia de Gshao qe T AT e 22
sition element? |
(1) Tc @) Zn I )T @) Zn
(3) Pt (4) Au : (3) Pt (4) Au
60. The number of angular nodes for 'd' orbitals are— | 60. 'd' g * foU Fvig e & 9Ed .
(Ho @1 | (Ho @1
(3)2 )3 I (3)2 )3
Space for Rough Work
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PRINCE ULYMPIAD EXAMINATION

B 2pcPr B

E( MATHS —_—

62.

63..

64.

65.

. If x+1 and f(x)_

7(r(7(2) s -

()1 Q) 2
()3 (4) 4
The function f:R—>R is defined by

f(x)=cos” x+sin* x, then range of f(x) is :-

3 3
(D {Zalj 2 (}1}

3 3
3) {Zal} “4) (Zalj

The smallest positive angle which satisfies the equa-

tion 2sin® x++/3 cosx+1=01s -

S5 27
(1) e (2) 3

T T

J— 4 J—
3 3 Ol

A2

If (aH) =p+ig,p’+q° =

2a—i

(a2+1)2 a’+1 :
D= @ (442 +1)

a*+1Y
3) 42 +1 (4) None of these
If A and B are two sets such that A « B, then A UB

1S

1s a real function, then | 61.

62.

63.

64.

65.

afg x 21 d f(x)_x—@ SdfaF 7w ©

@ £(S((2) s -

(1)1 @) 2

3) 3 4) 4

wed f:R—>RY f(x)=cos’ x+sin* x, 39 ¥R
oftenfid @ 99 f(x) 1 9RER B -

3 3
(1) [131] 2) (;:1}

3 3
@3] @3]

2sin’ x++/3cosx+1=0FH HIT FH = =AAH
YA ShITT T HM BT :-

R 2z
M @ 3

z oz
OF @ 2
af —(ch_lz =p+ig.p +q°

(a2+1)2 a’+1
(S D (402 +1)

241 Y . .
() [fam] @) T @ 7
IEATNB T G = @ TR 2 fF AcB @ AUB
3

(1) A ) B (1) A ) B
3) ¢ (4) None of these 3) ¢ (4) T8 9 =+ T
Space for Rough Work
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66. IfA={6,8} and B = {9, 10}, then number of relations I 66. ICA=1{6 8 TMB=1{9, 10} TAYBF T== Hi
of Ato B are : | e B
(1) 9 () 16 | (1) 9 () 16
) 4 4)8 : 3) 4 4)8
1 1
67. The domain of f(x) = m Is : : 67. ®Tf(x) = m EH a1 w2
M ¢ @R I 1) ¢ Q)R
(3) R- {o} (4) None of these | O R-[) (4) 7 & T T
11°+sin11° °4ginll®
68. The value of % I 68. % -
(1) tan34° (2) tan 56° | (1) tan 34° (2) tan 56°
(3) tan22° (4) cot 56° I (3) tan22° (4) cot 56°
69. The val f£1+i (= I L) (120} 2
. € value o s N~ —_— | +| —= —
V2) 2 o IH III o
| 2 2
1 (2)-1 | 1) 1 ) -1
3) -2 4)2 I (3) -2 4)2
+
70. If (ij = 1, then the least positive integral value of m I 70. Afe G%ij =1dlm I SR =ATY qOE AH -
(1 (2)2 I (1 (2)2
(3) 3 4 4 I (3) 3 4 4
71. "C_+"C_, isequalto: : 71. "C_+"C_, U z-
M ", @rC,, G @,
(3) nJrlcﬁ1 (4) n+1Cr | (3) nJrlcﬁ1 (4) n+1Cr
x 11 . . | x 1 l
72. Ifl—()!_8!+9! then x is equal to : |72. Wﬁl—m—g—!+9!ﬁXW%—
(1) 10 ()9 I (1) 10 ()9
3) 8 (4) 100 I 3) 8 (4) 100
73. 1f 20, =20, then 18, = | 73. =afz 20, =20, 18, =
(1) 4896 (2) 816 I (1) 4896 (2) 816
(3) 1632 (4) None of these | (3) 1632 (4) T8 9 =+ T
74. "C,+"C, +"C,+"C,+ ... +"C_is equal to ; | 74. "C,+"C, +"C,+"C + ...+ "C_ T F-
(1) n! () n? I (1) n! () n?
3) 2" (2 CE (42!
Space for Rough Work
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75. The value of i & I 75. F AN -
(1) i (2) - | (1) i (2) -
3 1 -1 | 3 1 -1
, 3 I , 3
76. Ifsin A= 3 then value of tan 2A : | 76. g sin A = 3 9 tan 2A 1 WA B-
(1) 2177 Q) 724 | (1) 2177 Q) 724
(3) 24/7 4) 23/7 : (3) 24/7 4) 23/7
77 The vl . sinb +sin26 | 77 sin©O +sin 20 S
) O O 080 1 c0s 28 | """ 1+cos6+cos20
1 ltane 2 lcote I 1 ltane 2 lcote
M 3 @ 3 | 1 3 @ 3
(3) tan® (4) cotd | (3) tan® (4) cotd
T T . , | T T
78. If —§<9<§, then minimum value of Cos® @ + Sec®@ 1s I 78. Wﬁ‘{—§<9<§; d9 Cos® @+ Sec’@ 1 a9 | 2
(H 1 22 | (H 1 22
3)0 (4) None of these | 3)0 (4) T8 9 = Tl
79. Let R be a relation on N defined by x + 2y =8. The I 79. af% Wed e N R T GaY € 991 x + 2y =8 @l R
domain of R is? | 1 WA 2
(1) {2.4.8} (2){2.4.,6.8} | (1) {2.4.8} (2){2.4.,6.8}
(3){2.4.6} 4 {1.2,3.4} | (3){2.4.6} 4 {1.2,3.4}
80. The domain of fuction f(x) = \f4x — : 80. T A(X) = Jax < T W@ T
(DR-{0.4} 2)R-(0.4) I (DR-{0.4} (2)R-(0.4)
(3) 04 (4 [0.4] : (3) (04 (4 [0.4]
2 2
81. The range of the function f(x) = X2 = | 81. wem f(x) = X2 = 1 IRER 7
X" +2x | X~ +2x
(DR (2) R-{1} | (DR (2) R-{1}
1 I 1
(3) R- —5,1 (4) R-{0} | (3) R- —5,1 (4) R-{0}
82. The value of sin?5° + sin? 10° + sin? 15° +....... sin?90° | 82. sin?5° + sin? 10° + sin® 15° +....... sin? 90° =T HH 2|
is I
(1) 7 2)8 | (1) 7 2)8
(3)9.5 4) 10 | (3)9.5 4) 10
I
Space for Rough Work
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PRINCE OLYMPIAD EXAMINATION

B 2pcr N

| 83.

83. cos 35° + cos 85° + cos 155° | cos 35° + cos 85° + cos 155°
1 | 1
(10 @5 L o @5
1 | 1
(3) NA (4) cos 75° : (3) NA (4) cos 75°
3+51 3+51
84. Ifx+iy=——theny= :84. I x+iy= 7_6iT‘ﬁy=
(1)9/85 (2) —9/85 | (1)9/85 (2) —9/85
(3) 53/85 (4) -53/85 | (3) 53/85 (4) -53/85
1 I 1
85. IfZ= 1—h2+3) , then |z]= I 85. AKZ= 1—h2+3) , @ |z=
1
_— | _—
(H 1 @ % | (H 1 @ %
5 4 I
® T% 7% L © % 7%
2x -1 | 2x -1
86. If |~ —|>2then x= | 86 A~ P2 W x=
I
3 3 3 3
(1) (Z,IJU(LM) 2) (—Z,OJU(LM) : (1) (Z,IJU(LM) 2) (—Z,OJU(LM)
3 3 I 3 3
(3) (Z,OJU(LM) (4) [Z,I}U(Lw) | (3) (Z,OJU(LM) (4) [Z,I}U(LM)
87. The number of words that can be formed out of the : 87. ¥&'COMMITTEE' & &% § 91 3¢l ¥sal i 6@
letters of the word COMMITTEE? | 27
9! 9! | 9! 9!
O Gy @ @y Oy @ Gy
9! | 9!
O ) 9| G 4) 9|
88. If*P_ 5P =30800 : 1 Findr I 88. AP 1P _=30800 : 1, r = A @ HU
(1) 41 (2) 40 (3) 42 (4) 39 | (1) 41 (2) 40 (3) 42 (4) 39
89. In how many ways can five children stand in a queue? | 89. W= F=4 T Ui | fFd T® ¥ @2 & WHA 37
(1) 110 (2) 100 (3) 130 (4) 120 | (1) 110 (2) 100 (3) 130 (4) 120
90. There are 10 points in a plane and 4 of them are collinear. | 90. T& 7@ W10 fag 2 ford 495 v 213 forgaT =i
The number of straight lines joining any two of them is | e FTel Wsh i g&mn 2
(1) 45 (2) 40 (3) 39 (4) 38 | (1) 45 (2) 40 (3) 39 (4) 38
Space for Rough Work
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F =pcer NI

E(MATJE

92.

93.

94.

5760, 960, ........ ,48.16, 8
(1)240 (2) 192
(3) 160 4) 120

If, in a code, MIND becomes KGLB and ARGUE be-
comes YPESC, then what will DIAGRAM be in that
code ?

(1) BGYEPYK
(3) GLPEYKGB

(2) BGYPYEK
(4) LKBGYPK

How many triangles are there in the following figure ?

()29 (2)27
(3)23 (4) 30
Find out which of the diagrams as given in the alternatives

correctly represents the relationship stated in the question.

© o

Mountain, Forest, Earth

(o

(D 2

3) “4)

| 91,

92.

93.

94.

5760,960, ......... 48,16, 8
(1) 240 () 192
(3) 160 (4) 120
If Wk ®e d, 'MIND' %1 'KGLB' @ S 2 qen

'ARGUE' %1 'YPESC' 3 Smal 8, @9 'DIAGRAM'
FiS T B ?

(1) BGYEPYK (2) BGYPYEK
(3) GLPEYKGB (4) LKBGYPK
fod T ot e P § 2

(1)29 ()27

(3) 23 (4) 30

@ HY 53 T el ¥ ¥ %W W ema @ ™
oo & wet gy wfia & 2l

© o

(o

(D 2

3) “4)

Space for Rough Work
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95.

96.

97.

98.

99.

100.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

walks 14 m to the west, then walks 7 m. to the North- |

Seema walks 7 m. to the South- East from point A. Then

West. In last she walks 4 m. to the East and reached at |
point B. Find AB.?

(1) 18 m. (2) 19 m.

(3)98 /2 m. (4) 10 m.

Pointing to a photograph Pradeep said "She is the mother
of My son's Wife's daughter. How is Pradeep related to
the lady ?

(1) Uncle (2) Cousin

(3) Daughter-in-law (4) None of these

What was the day of week on 19th June 1440 ?

(1) Thursday (2) Wednesday

(3) Friday (4) Saturday

What is the angle between minute and hour hand at 11 :
10 ?

(1) 265° (2) 175°
(3) 85° (4) 95°
403 ]2]8](32

s{3|1]9|24

71313770

20191 412f°?

(1) 60 (2) 84
(3) 120 @ 27
Statements :

(1) At least some boys are doctors.

(2) Every doctor is engineer.

Conclusions :

I.  Some boys are engineers.

II. No boy is engineer.

III. All boys are engineers.

(1) Only I follows (2) Only II follows
(3) Only I follows (4) All follows

95.

96.

97.

98.

99.

100.

fg 'A' ¥ dim sfam-gd fenm § 7 A werd 31
ufy=m faen # 14 . wordt 2, 6 s - ufvem faon o
7. Jerdt T S W g W FT AR 4 HL Tt & qen
fag 'B' R = 31 ASRBF 9 Tl 5@ H 9
(1) 18 =I. (2) 19

(3) 98 f2 . (4) 10

TIel T SR T I T WRT 7 el 78 W' S wT
it w5 T 2w afeen @ w g 2l

(1) 3tFa (2) ==

(3) 4 7Y (4) T 9§ = T

19 S 1440 I @€ F1 w4 9 & o ?

(1) FeefdER (2) FoER

(3) YHAR ORUEEI

e ot = &1 g & 1= 11:10 o9 &1 &0 &4
B ?

(1) 265° (2) 175°
(3) 85° (4) 95°
4013|2832

5(3]1]9|24

713|377

209 |4(12]2

(1) 60 (2) 84
(3) 120 4 27
R

(1) %9 9 %7 %7 ogh, S 2

(2) W Sl SRR 2

ot

1. %3 ags, TR 2

II. 7 wgah, Soifer & 2

1. 9+ft Tiega, eifem 3

(1) et [ STTER0T Tl 21 (2) et [ S8 s 2
(3) et [ e e 21 (4) Gt STeon 4 2|

Space for Rough Work
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